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=13816(cm?®)
2.3, 14X (40+2)? X 2X100+2=125600(cm®)
BRI . 6 X 6 X 62X 3+15=21. 6(cm®)
F MR ITikirE

1 1:3=5: I5CUERARME—) 2.4:6=6: 9k O : 2—27:§ c )
5.2 5 LIF B 5.5:1 6.3 1 7.96 8.160 9.8 2 10.300
— X 2.4 8.4 4LX 5%
~1.C 2D 3.B LA 5B
_ 1 1
[EI‘JC—IO x=14.4 =x 39 x=1.6
BN
251 GBI ARME )t 1=1¢ 3.6 x:%
2.10: 4=15* 2 x=6
L1 R IR XA ERRE S B SR K,
x_15 _
15 3 x=2.25
2. (1) i FE s

<mﬁ%%ﬁ5ﬁmﬁmmwwgﬁﬁg@%:u»@ﬁ1ﬂﬁm
TR A2 A T LA T B B P 5 R T I 91

ORI 2 7, =10 =75
.1 B
3.(D2= 60000—120000(cm)—1200(m)

(2)
A it BB & RSEAT S5
(20+10)2=20X18 x=12
o fiff: BATOE AL E & /NI

490—350__350
x 5

AN 1 ERURUR A AR R - 600-4=150CK/43)
RO 42 ] I (R 3 3E - 600+ (10— 4) =100 CK: /43)
ZEBUBUP AT B : 600+12=50CK /41
2. 600--(150-+50) =3 (434

x=2
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=.BiESES "
1. Rk 5
EI*ZEBIIAIR
14X 1= 3.14X0. 1= 3. 14 X1 X2=
.14 X2= 3. 14X0. 2= 3. 14 X2X2=
.14 X 3= 3. 14X0. 3= 3. 14 X3X2=
14X 4= 3.14X0. 4= 3. 14 X4 X2=
.14 X5= 3.14X0.5= 3. 14 X5X2=
.14 X6= 3. 14 X0. 6= 3. 14 X10X 2=
14X 7= 3. 14 X0, 7= 3. 14 X20X2=
.14 X 8= 3.14X0. 8= 3. 14 X30X2=
.14 X9= 3.14X0. 9= 3. 14 X40X 2=
.14 X10= 3. 14 X50= 3. 14 X50X2=
.14 X20= 3.14X0.01= 3. 14X 15X 2=
.14 X30= 3. 14X0. 02= 3. 14 X25X 2=
.14 X40= 3. 14 X0, 03= 3.14 X35 X2=
.14 X60= 3.14X0. 04= 3. 14 X45X 2=
.14 X70= 3. 14X0. 05= 3.14X0.5X2=

& I ¥

& AR &7 % W &y, b T AL se— AR,
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WA @Rk FE2—MRF B, KFBKFTRAGRDEK,

AR
.14 X80=
. 14 X300=
. 14X40=
.14 X100=
. 14X20=
.14 X60=
. 14X90=
.14 X30=
.14 X70=
. 14 X900=
. 14X0. 5=
. 14X0. 6=
. 14X0. 8=

. 14X0. 3=

1. [Rik

HEIEETIR()

.14 X0.4X2=

.14 X0.5X2=

14 X1.5X2=

14 X2.5X2=

.14 X3.5X2=

.14 X4.5X2=

.14 X100 X 2=

. 14X200X 2=

.14 X300 X 2=

14 X155 X 2=

.14 X20X 2=

.14 X500 X 2=

.14 X0. 2X2=

.14 X0.3X2=

T THERAAN S, ok B aiR=kE KX g,

=B [
2. SRIEFE R AR
C=2.3m,h=2m
S =
C=18dm,h=3dm
S =
C=4.2cm,h=5cm
S =
C=6. 28m,h=0. Im
S =
d=10dm,h=4dm
S =
d=8cm,h=12. 5cm
S =
d=25cm,h=4cm
S =
Xy

TBREE
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1. [Rik E;{
5
HE=EPIEETIR(2)

(2+2)= 3. 14 X6 X5= 3. 14 X5+3. 14 X4=

(10+2)2= 3. 14 X8 X5= 3.14X2+3. 14 X6=

(18+2)2= 3. 14 X15X2= 3.14X3+3. 14 X7=

(1+2)t= 3. 14 X4 X25= 3. 14X4+43. 14 X6=

3. 14X 1= 3. 14 X8 X125= 3. 14X 1+3.14X8=

3. 14X 2= 3. 14 X7X0.1= 3.14X12+3.14X18=

3. 14X 3= 3. 14 X9X10= 3. 14 X27+3.14X23=

3. 14 X10*= 3. 140, 1 X100= 3.14X2+3.14X2=

3. 14X (4--2)*= 3. 14X 35X 2= 3.14X0. 143. 14 X0. 2=

3. 14X (6+-2)"= 3.14X2X10= 3. 14 X30+3. 14 X60=

3. 14X (20+2)= 3. 14 X45X 2= 3. 14X11+3.14X19=

3. 14X (40+2)= 3. 14 X12X5= 3. 14X 25+3. 14 X75=

3. 14X (60+2)2= 3. 14 X30X3= 3. 14 X7+3.14X3=

3.14X(0.2+2)"= 3.14X25X2= 3.14X34—3.14 X14=

3. 14X (0. 4+2)2= 3. 14X 2. 5X8= 3. 14 X52—3. 14 X45=

B SRR R
% [T s B, Xt



31.4-=-3. 14=

9.42--3. 14=

9423, 14=

15.7=3. 14=

1.57=3. 14=

12.56=3. 14=

18. 843, 14=

188.4--3. 14=

62.8=+3. 14=

125.6-+3. 14=

1573, 14=

219.8-+3. 14=

251. 23, 14=

282.6+3. 14=

2826=-3. 14=

3.

3.

1. [Rik

H4ZERIEETIR(3)

L14AX5+12=
LNAXT—10=

. 14X304-20=

14 X6+5=

14 X40+430=

14 X11—3. 14=

3. 14 X100+100=

3X4+3. 14=

oX3.14—3. 14=

3.

14 X8+5=

2X1.2X5=

3.

14 X5 X2=

3. 14 X4X0. 25=

3.

14 X5+10=

9.42=3.14+2=

3. 14 X1343. 14 X17=
3. 14 X16+3. 14 X4=
3. 14 X25+43. 14 X15=
3. 14 X81+43. 14 X9=
3. 14X 36+43. 14 X4=
6.28=+3.14+2=

00X 3. 14 X20=
TX3+5X6=
28+6X7=

3. 14 X4+50=

3. 14X9+3. 14=

94, 2--3. 14+2=

3. 14X5=-10=
20-5X3. 14=

8+43.14X2=

_____________________________________ -
CaAEGERDREAKCAZh, REEG LIRS, 697 %2 .5, =3. 14X BREE

(C+3.14+2)* X2+Ch,
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1.2X5=

48 X20=

25X0.2=

2.1 X9=

9.6X0.2=

3. 14X 3=

12. 5X8=

1.4 X 7=

1. 8X0. 5=

3.5 X3=

1. 5X6=

3.6X4=

2.4X0.5=

1. 8X3=

2.6X2=

EaEBaaew

NAEEZHEE T (R)

1. Rk

HEZRIEFR (1)

12X2=

28 X5=
22X 25=
42X 5=
52X 2=

52 X 4=

92 X 100=
12X 6=

0. 2% X 25=
0. 12 X100=
208X 2=
62X 3=
7EX2=

92 X 5=

82X 2=

g =1a =12
: B
] ; FHF o
54
m]
@Eﬁié’awﬁxz)ﬁ‘ﬁﬁxxgj

V@Hi:Sh ES(‘ V@ui:ﬂ?jh

3. 14X 12X 2=

3. 14X 22 X5=

3. 14X 22 X 25=
3. 14X 42 X5=

3. 14X 52X 2=

3. 14X 52 X4=

3. 14X 12 X5=

3. 14X 12X 6=

3. 14 X0. 22 X25=
3.14X0. 1 X100=
3. 14X20* X 2=
3. 14X 52X 20=
3. 14X30* X0, 1=

3.14X0. 32 X10=

3.14X0. 5* X4=
Bb, X L

2
Al
F
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FEAZ2BIFR(2)

4,2-+2= 3.14+3. 14= 3.14+3.14+2=
2--0.2= 6.28=+3. 14= 6.28+3.14+2=
8§+0.01= 9.42-=-3. 14= 9.42-=-3. 14=+2=
0.63+—3= 12. 563, 14= 12.56=-3. 14=-2=
3.6=0.4= 15.7=3. 14= 15.7-3. 14=-2=
42--0. 7= 18.84+3. 14= 18.84=+3.14+2=
24.6+3= 21.98+3. 14= 21.98-+3. 14=+2=
1.6+—8= 25.12-+3. 14= 25.12--3. 14=+2=
960-+—20= 28.26+3.14= 28.263. 14+2=
5.6+1.4= 31.4+3. 14= 31.4-=+3.14+2=
9.2+2= 1. 2563, 14= 1.256+3. 14+-2=
16. 8+4= 1.884+3. 14= 1. 8843, 14--2=
5.2+1.3= 62.8=+3. 14= 62.8+3.14+2=
9.8=0.7= 942-=-3. 14= 942-=-3. 14=-2=
36—1.2= 2.512-+3. 14= 2.512--3. 14-=-2=

R A TR = P oo

}?E% FHI I Xy
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5
H4=BI IR (3)
.14 X5= 3P—22= 3.14X(32—2%)=
14X 7= 42 —32= 3. 14X (42 —3%) =
.14 X9= 52—42= 3. 14X (52 —4?) =
14X 20= 62 —42= 3. 14X (62—4%) =
14 X40= 72 —32= 3. 14X (7P —3%) =
.14 X60= 82 —22= 3. 14X (8 —2%)=
14X 80= 92 —12= 3. 14X (92—1%H) =
14X 8= 3P2—12= 3. 14X (32—1%) =
14X 10= 42 —22 = (42 —27) X 4=
.14 X0. 9= 72 —52= (72 —5%) X10=
.14 X0, 7= 0.5%2—0. 4> = 3. 14X (0, 52—0. 42) =
.14 X200= 0.92—0.1?= 3.14X(0.92—0. 1>)=
.14 X0. 5= 602 —402= 3. 14X (602 —40%) =
. 140, 03= 302 —20%= 3. 14X (302 —20%)=
.14 X900= 402 —30%2= 3. 14 X (40> —30%) =
i B
?E ; it ey RS
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H4=BI IR (4)
22X 1. 5= 3. 14X 3= 3.14X32X10=
32X 20= 3. 14 X5= 3.14X0. 12 X10=
52X 6= 3. 14 X 8= 3.14X52 X 4=
42 X 3= 3. 14 X6= 3. 14X (6+2)2=
0.72X10%*= 3. 14 X20= 3. 14X (4+2)2=
62 X 2= 3. 14 X4= 3. 14X (2+2)2=
92 X 3= 3. 14 X 7= 3. 14X 22 X5=
§2 X 5= 3. 14 X9= 3.14X4%? X5=
72X 20= 3. 14X 15X 2= 3. 14X 22X 2=
52X 4= 3. 14 X5 X 8= 3. 14X 22 X0, 5=
42 X 5= 3. 14X 12X5= 3. 14 X10%2 X 3=
0.2 X10= 3.14X3.5X2= 3. 14 X52 X 2=
42X 4= 3. 14X 14 X5= 3. 14 X202 X2=
3ZXT= 3. 14X 25X 4= 3. 14 X102 X 6=
202 X 5= 3. 14 X9 X10= 3. 14X0. 12X 20=
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%= | it 7 B, st
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Lwsxor= 0. 16X L% 15= Lg2ys
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1 B 1. 1y o
Lgoxii= 5. 4X <X 9= Lwrxgo=
3 3 3
Losxio= 3. oxLywg— 1grxo=
3 253 3
1 rgxs= 45X L 5= L grxg=
3 -0 X3 3
1 _ 1_ 2 1
=X6X2 1.2X3X 2 X 3% 3
1 o 1 5 1
Lorxs= 0. 9XTX L= 320, 5X 4=
3 3 3
Lorxa= 45X L o= 62X 1X L —
3 -0 X3 3
1 . 1 _ 2 1_
Loixg= 11X £ 24— L2XEX L=
3 3 3
Laxg= TXEx1 8= 5230, 3X £ =
3 5 <1 <35
%xzxgg: 90X 93— 52><6><%=
%x1.5><4: 0. 5-3X30= 22><1.2><%:
%xgxz.as: 0. 6X8§—3= 0. 52><3><%:
2 AT = 4B oo
= Fnt 4 Bt
B T
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RIPhS
16 X5X3. 14= 3. 14 X0. 52 X 4=
3. 14 X5X16= 3. 14X0. 22 X100=
3. 14X 2. 5X4= 3. 14X 3*X10=
2X5X3.14= 28 X5X3.14=
3. 14X5X2= 3. 14X 28 X5=
OX3. 14 X2= 52 X4 X3. 14=
25 X2X 3. 14= 3. 14X 52 X 4=
3. 14X 25X 2= 28 X25X3. 14=
25X3. 14 X2= 3. 14X 22 X 25=
0. 5X8X3. 14= 22X0.5X3. 14=
3. 14X0. 5 X8= 3. 14X 2% X0. 5=
8§X3.14X0. 5= 12.5X3. 14 X8=
15 X4 X3. 14= 2X3.14X25=

>)

=
ES It 5
C:

= [ B ]

1
2 _
5 X12X 3

%XSZXZOZ

%x:s. 14X 32 X 20=

9><%><3. 14=

3, 14><32><%:

1
2 — =
12 X6 X 3

3. 14><12><6><%:

1
2 _
2><3><3

3, 14><22><3><%=

1
2 — =
12 X15X 3

3, 14><12><15><%:

1_
12><3—

42><12><%:
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Ednti2 Ve = hs wnﬁzé,vﬁsz(%) h,
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20

120, 5= 3. 14X 4— 3. 14X 20X 2—

2. 4X 4= 3. 14X 8= 3. 14X0. 1X5=

5.2+1. 3= 3. 140, 2— 3. 14X 50X 4=

10=0. 5= 3. 140, 5— 3, 14><6><%:

0. 23X 3= 3. 14X 90= 3. 14X 22 =

0.7 = 3. 140, T— 314512 X 8—

100X 70 % = 3. 14X 30= 3. 14><32><%:

7240, 8= 3. 140, 6= 3. 140, 3 —

3. 40, 4— 3. 14X 40= 3, 14><%><18=

32— 3. 14X 100= 3. 14X 25X 4—

50% = 15. 73, 14— 12,563, 14+ 2=

0. 360, 18= 18. 843, 14— 04,23, 14=2—=

350, 25— 9 1983, 14— 3. 14X (6=2)2 =

0. 72><%: 3. 14X 200= 3. 14><120><%:

0. 16X 40— 91, 2+3 14— 3. 14X 60X 5=
AT = 4B oo
; it 5 B

2
545"*7373’\/@&&:%”2}1; 6%ﬂﬁiﬁ‘:,Vﬁ]ﬂz:%n<%) h.
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> 2 60 g %12 R 189 80 251.2 ¢ 2512 8  25.12
< 30 160 1 9.2 2826 192 50 157 1 3L4 12 48
> 70 150 25 125.6 2512 9.42 100 314 | 2.826 24 240
> 300 400 g1 0.2 31.4 100 8100 15.7 2.198  0.09 0.2826
> 50 25 025 314 3.4 98 6 18.84 628 0.8 2.512
< 10 30 a1 310 2826 0.9 1 14 157 2000 6280
%10m 12,56 2.198  94.2 10.5 1 3.14 0.0942 500 1570
3.140.314 6.28 28.26  282.6 157 9 800 2512 2826 700 2198
6.28  0.628  12.56 314 a4 12,56 4.4 108 1570 %17 |
9.42 0.942 1884 1y56 9198 ooz L2 98 282.6 6 9.42  282.6
12.56 1.256  25.12

28.26  62.8  282.6 5.4 405  2.826 | 180  15.7  0.314
15.7  1.57 31.4 ‘ :

P34 282.6  94.2 1 5.2 128 314 150 25.12 314
18.80 1884 628 1256 188.4 314 %15 R 48 18.84  28.26
PLOS AN A0 aes 2s26 sLa 21 1 0.5 | 72 62.8 12.56
Bodzomelz IS sy 157 ss 100 2 1 72 1256 3.14
26.26 2826 BLZ L 056 6.8 2198 800 3 L5 243 21,98 62.8
3.4 157 314 3 3
%137 o021 4 2 320 28.26 251.2
pnE o e 10 314 94,2 9 5 2.5 980  94.2  25.12
e 3 7 628 60 6 3 100 1256 6.28
iZi z jzzz z;zi 300 1198 125.6 8.2 7 3.5 80 188.4 942
yos o1sr a1 42 2826 02 8 4 04 298 15
11X 0.5 Sl 1Zm6. 489 L5 e 2es 2512
L2 9515 ot bu 4 1556 1 0 5 63 s s
012 14 Sidor 6 414 340 46 04 0.2 | 2000 2826 0.628
125.6 9.42  2lemd 60 1514 51 ¢ 42 06 03 %18 |
M 157 oese D 1z 04 o010 72 64 3
62.8 2198 125 6am¢ 10 3012 6256 14 300 150 15 0.8 39
1884 28,26 3ldeny | 0 12 3.4 0 30 0.8 0.4 . 330 3.6 98
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1.884 314 6 2 6.28 1256 40 1256 42 88 32
2.512 1.256 960 20 628 1884 60 1884 . 12 42 25

70 0.942 1. 884 L5 100 314 L ) 80 2512 | 22 6 50
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